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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3889 9.2 3.5 20 45.8 81.5

SPaG Q1 3888 1.6 1.2 4 39.9 81.4
2 1817 8.6 3.2 20 43 38

SPaG Q2 1816 1.6 1.2 4 40 38
3 1509 9.3 3.5 20 46.5 31.6

SPaG Q3 1510 1.3 1.3 4 32.1 31.6
4 4326 9.5 3 20 47.5 90.6

SPaG Q4 4326 1.5 1.3 4 38.2 90.6
5 2383 9.4 3.5 20 46.8 49.9

SPaG Q5 2383 1.6 1.2 4 39.5 49.9
6 337 8.3 3.2 20 41.5 7.1

SPag Q6 336 1.4 1.2 4 36.1 7
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GCSE Geography A Unit 2 Foundation 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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This box contains the rationale i.e. it explains the 
principles that must be applied when marking 
each sub-question. The examiner must apply 
this rationale when applying the marking scheme 
to the response. 


  
UNIT 2 – 4232/01 Foundation Tier 


Instructions for examiners of GCSE Geography when applying the marking scheme 
 
1 Positive marking 
 
It should be remembered that learners are writing under examination conditions and credit should be given for what the learner writes, rather than adopting the 
approach of penalising him/her for any omissions. It should be possible for a very good response to achieve full marks and a very poor one to achieve zero marks. 
Marks should not be deducted for a less than perfect answer if it satisfies the criteria of the mark scheme. 
 
GCSE Geography marking schemes are presented in a common format as shown below: 
 
 
 
 
 
Question 1 Rationale Indicative response 


AO
1 
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2 


AO
3 
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(a) (i) Describe the relief in grid 
square 0381.  


Credit up to two valid statements each 
with one mark. 
 


Ridge runs east-west (1) 
Steep slopes in southern part of square (1) 
Gentle slopes in northern part of square (1) 


  2  2 


 
 
 
 
 
 
 
 


 
2 Tick marking 
 
Low tariff questions should be marked using a points-based system. Each credit worthy response should be ticked in red pen. The number of ticks must equal the 
mark awarded for the sub-question. The mark scheme should be applied precisely using the expected outcomes box as a guide to the responses that are 
acceptable. Do not use crosses to indicate answers that are incorrect. If the candidate has not attempted the question then the examiner should strike through the 
available dotted lines with a diagonal line. 
  


This box contains the sub-question 


The columns to the right indicate the 
assessment objective(s) targeted by 
the question and its mark tariff. 


This box contains indicative content for point-based marking. For closed sub-questions (in 
particular, on Foundation tier papers) this box will indicate the only response that is 
acceptable. For more open ended sub-questions this box will illustrate a number of likely 
responses that are credit worthy. It may be that this list will be extended at the examiner's 
conference after actual scripts have been read. 


1 
© WJEC CBAC Ltd. 







3 Banded (or level) mark schemes 
Banded mark schemes are divided so that each band has a relevant descriptor. The descriptor for the band provides a description of the performance level for that 
band. Each band contains marks. Examiners should first read and annotate a learner’s answer to pick out the evidence that is being assessed in that question. Do 
not use ticks on the candidate’s response. Once the annotation is complete, the mark scheme can be applied. This is done as a two stage process. 
 
Stage 1 – Deciding on the band 
When deciding on a band, the answer should be viewed holistically. Beginning at the lowest band, examiners should look at the learner’s answer and check whether 
it matches the descriptor for that band. Examiners should look at the descriptor for that band and see if it matches the qualities shown in the learner’s answer. If the 
descriptor at the lowest band is satisfied, examiners should move up to the next band and repeat this process for each band until the descriptor matches the answer. 
 
If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’ approach should be adopted to decide on the band and then the learner’s 
response should be used to decide on the mark within the band. For instance if a response is mainly in band 2 but with a limited amount of band 3 content, the 
answer would be placed in band 2, but the mark awarded would be close to the top of band 2 as a result of the band 3 content. 
 
Examiners should not seek to mark candidates down as a result of small omissions in minor areas of an answer. 
 
Stage 2 – Deciding on the mark 
 
Once the band has been decided, examiners can then assign a mark. During standardising (marking conference), detailed advice from the Principal Examiner on the 
qualities of each mark band will be given. Examiners will then receive examples of answers in each mark band that have been awarded a mark by the Principal 
Examiner. Examiners should mark the examples and compare their marks with those of the Principal Examiner. 
 
When marking, examiners can use these examples to decide whether a learner’s response is of a superior, inferior or comparable standard to the example. 
Examiners are reminded of the need to revisit the answer as they apply the mark scheme in order to confirm that the band and the mark allocated is appropriate to 
the response provided. 
 
Indicative content is also provided for banded mark schemes. Indicative content is not exhaustive, and other valid responses must be credited. In order to reach the 
highest bands of the mark scheme a learner need not cover all of the points mentioned in the indicative content but must meet the requirements of the highest mark 
band. Where a response is not creditworthy, that is contains nothing of any significance to the mark scheme, or where no response has been provided, no marks 
should be awarded. 
 
Options Themes   
Learners are instructed to answer one question. If the candidate has responded to both questions then the examiner must mark both questions. Award the higher 
mark that has been attained. 
 


  







Theme 7 Coasts 
Question 1 
 


Rationale Indicative content 


AO
1 
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(c) Describe how soft engineering has been used to manage the coastline in an 
area or areas you have studied. 


See level descriptors below 4 2  4 10 


 
Question 1(c) Describe how soft engineering has been used to manage the coastline in an area or areas you have studied. 


Level Level descriptor 
 Award 0 marks if the response is wholly irrelevant or incorrect. 


Level 1 
1-2 marks 


Basic description of soft engineering strategy /strategies or a list of coastal management strategies. 
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet 
points. 


Level 2 
3-4 marks 


Elaborated description of soft engineering strategy / strategies. May refer to a specific area or areas. 
Information is communicated by brief statements.  There us a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 3 
5-6 marks 


Detailed description of soft engineering strategy / strategies. Accurate reference to specific areas or areas.  
Communication is clear and logical.  Spelling, punctuation and grammar have considerable accuracy. 


 
Assessment of spelling, punctuation and the accurate use of grammar in question 1(d) 


Level Performance descriptions 
 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the 
demands of the question. Any errors do not hinder meaning in the response. Where required, they use a limited 
range of specialist terms appropriately. 


Intermediate 
performance 
2 – 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of 
meaning in the context of the demands of the question. Where required, they use a good range of specialist 
terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of 
meaning in the context of the demands of the question. Where required, they use a wide range of specialist 
terms adeptly and with precision. 


 
Indicative content Responses may describe one of the following 'soft' strategies: 


• Dune Stabalisation 
• Beach replenishment  
• Managed realignment / retreat 
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• Stable bays / offshore reefs to trap sediment 
• The ‘do nothing’ approach 


'Hard' engineering such as groynes, sea walls, rip-rap should be credited to max Level 2 (3 marks) if no mention of 'soft' strategies. 












Sticky Note

Two soft engineering strategies are identified with reference to specific areas.



Sticky Note

Beach replenishment is correctly described but not linked to how the technique reduces wave energy.



Sticky Note

This paragraph shows some understanding of the link between stabilisation and vegetation. However, the answer should have focused on dune stabilisation.



Sticky Note

A third strategy is given. Some parts of the country such as Happisburgh have considered the 'do nothing' approach.



Sticky Note

Awarded Level 2 (4 marks) plus 2 for SPaG.
How could this answer be improved to gain Level 3 marks?












Sticky Note

Two soft engineering strateies are correctly identified.



Sticky Note

Beach replenishment, in the context of a named area, is understood although not fully described.



Sticky Note

The term managed retreat is correct but full understanding is not demonstrated.



Sticky Note

Awarded Level 2 (3 marks) plus 2 for SPaG.
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(4232-01)


Section A - Physical Options


Answer at least one question from this section, but no more than two.


Theme 7 – Our Changing Coastline


1.	 (a)	 Study the OS map extract and the photograph below. They show part of the Dorset 
coastline in southern England.


		  A full key appears on page 28.
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Examiner
only


	 (c)	 Describe how soft engineering has been used to manage the coastline in an area (or 
areas) you have studied.	 [6 + 4]


		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


End of Theme 7 question
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This box contains the rationale i.e. it explains the 
principles that must be applied when marking 
each sub-question. The examiner must apply 
this rationale when applying the marking scheme 
to the response. 


  
UNIT 2 – 4232/01 Foundation Tier 


Instructions for examiners of GCSE Geography when applying the marking scheme 
 
1 Positive marking 
 
It should be remembered that learners are writing under examination conditions and credit should be given for what the learner writes, rather than adopting the 
approach of penalising him/her for any omissions. It should be possible for a very good response to achieve full marks and a very poor one to achieve zero marks. 
Marks should not be deducted for a less than perfect answer if it satisfies the criteria of the mark scheme. 
 
GCSE Geography marking schemes are presented in a common format as shown below: 
 
 
 
 
 
Question 1 Rationale Indicative response 


AO
1 


AO
2 


AO
3 
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To
ta


l 


(a) (i) Describe the relief in grid 
square 0381.  


Credit up to two valid statements each 
with one mark. 
 


Ridge runs east-west (1) 
Steep slopes in southern part of square (1) 
Gentle slopes in northern part of square (1) 


  2  2 


 
 
 
 
 
 
 
 


 
2 Tick marking 
 
Low tariff questions should be marked using a points-based system. Each credit worthy response should be ticked in red pen. The number of ticks must equal the 
mark awarded for the sub-question. The mark scheme should be applied precisely using the expected outcomes box as a guide to the responses that are 
acceptable. Do not use crosses to indicate answers that are incorrect. If the candidate has not attempted the question then the examiner should strike through the 
available dotted lines with a diagonal line. 
  


This box contains the sub-question 


The columns to the right indicate the 
assessment objective(s) targeted by 
the question and its mark tariff. 


This box contains indicative content for point-based marking. For closed sub-questions (in 
particular, on Foundation tier papers) this box will indicate the only response that is 
acceptable. For more open ended sub-questions this box will illustrate a number of likely 
responses that are credit worthy. It may be that this list will be extended at the examiner's 
conference after actual scripts have been read. 
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3 Banded (or level) mark schemes 
Banded mark schemes are divided so that each band has a relevant descriptor. The descriptor for the band provides a description of the performance level for that 
band. Each band contains marks. Examiners should first read and annotate a learner’s answer to pick out the evidence that is being assessed in that question. Do 
not use ticks on the candidate’s response. Once the annotation is complete, the mark scheme can be applied. This is done as a two stage process. 
 
Stage 1 – Deciding on the band 
When deciding on a band, the answer should be viewed holistically. Beginning at the lowest band, examiners should look at the learner’s answer and check whether 
it matches the descriptor for that band. Examiners should look at the descriptor for that band and see if it matches the qualities shown in the learner’s answer. If the 
descriptor at the lowest band is satisfied, examiners should move up to the next band and repeat this process for each band until the descriptor matches the answer. 
 
If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’ approach should be adopted to decide on the band and then the learner’s 
response should be used to decide on the mark within the band. For instance if a response is mainly in band 2 but with a limited amount of band 3 content, the 
answer would be placed in band 2, but the mark awarded would be close to the top of band 2 as a result of the band 3 content. 
 
Examiners should not seek to mark candidates down as a result of small omissions in minor areas of an answer. 
 
Stage 2 – Deciding on the mark 
 
Once the band has been decided, examiners can then assign a mark. During standardising (marking conference), detailed advice from the Principal Examiner on the 
qualities of each mark band will be given. Examiners will then receive examples of answers in each mark band that have been awarded a mark by the Principal 
Examiner. Examiners should mark the examples and compare their marks with those of the Principal Examiner. 
 
When marking, examiners can use these examples to decide whether a learner’s response is of a superior, inferior or comparable standard to the example. 
Examiners are reminded of the need to revisit the answer as they apply the mark scheme in order to confirm that the band and the mark allocated is appropriate to 
the response provided. 
 
Indicative content is also provided for banded mark schemes. Indicative content is not exhaustive, and other valid responses must be credited. In order to reach the 
highest bands of the mark scheme a learner need not cover all of the points mentioned in the indicative content but must meet the requirements of the highest mark 
band. Where a response is not creditworthy, that is contains nothing of any significance to the mark scheme, or where no response has been provided, no marks 
should be awarded. 
 
Options Themes   
Learners are instructed to answer one question. If the candidate has responded to both questions then the examiner must mark both questions. Award the higher 
mark that has been attained. 
 







Theme 9 Living Things 
Question 3 
 


Rationale Indicative content 
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(c) For one large scale ecosystem (biome) you have studies describe how 
climate influences its living parts.  


See level descriptors below 4 2  4 6 


 
Question 3(c) For one large scale ecosystem (biome) you have studies describe how climate influences its living parts.  


Level Level descriptor 
 Award 0 marks if the response is wholly irrelevant or incorrect. 


Level 1 
1-2 marks 


Basic description of the climate or a description of the living parts. 
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet 
points. 


Level 2 
3-4 marks 


Elaborated description of the climate which may be linked to its living parts. Chosen biome is stated clearly. 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 3 
5-6 marks 


Detailed knowledge of the climate and its link to the living parts.  May have examples of specific locations within the 
biome. 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy. 


 
Assessment of spelling, punctuation and the accurate use of grammar in questions 3(c) 


Level Performance descriptions 
 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the 
demands of the question. Any errors do not hinder meaning in the response. Where required, they use a 
limited range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of 
meaning in the context of the demands of the question. Where required, they use a good range of specialist 
terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of 
meaning in the context of the demands of the question. Where required, they use a wide range of specialist 
terms adeptly and with precision. 


 
Indicative content: e.g. Tropical Rain Forest biome. The climate is hot and wet all year.  There may be references to convectional rainfall and location along the 
equator. This results in dense vegetation and a large variety of species. Plant growth is rapid and vegetation exists in distinct layers. Some plants have had to adapt. 
This results in a wide variety of habitat for all types of animals. 
 


3 
© WJEC CBAC Ltd. 












Sticky Note

The living parts, particularly vegetation, is described in detail and well understood by the candidate. 



Sticky Note

The climate is described briefly at the end of the answer and some link to the climate of the Tropical Rain Forest is noted.



Sticky Note

Awarded Level 2 (4 marks) plus 3 for SPaG.
How therefore does the answer need to be developed to reach Level 3?












Sticky Note

Correct location of a specified Rain Forest is given.



Sticky Note

Basic description of the climate.



Sticky Note

Developed response showing knowledge and understanding of the living parts of the Tropical Rain Forest.



Sticky Note

Climate and living parts are only linked in the concluding part of the answer.



Sticky Note

Awarded Level 3 (5 marks) plus 4 for SPaG.
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(4232-01)


Examiner
only


	 (c)	 For one large scale ecosystem (biome) you have studied describe how climate influences 
its living parts.	 [6 + 4]


		  Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.


		  Name of large scale ecosystem:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	


	


	


	


	


	


	


	


	


	


	


End of Theme 9 question
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This box contains the rationale i.e. it explains the 
principles that must be applied when marking 
each sub-question. The examiner must apply 
this rationale when applying the marking scheme 
to the response. 


 Instructions for examiners of GCSE Geography when applying the marking scheme 
 
1 Positive marking 
 
It should be remembered that learners are writing under examination conditions and credit should be given for what the learner writes, rather than adopting the 
approach of penalising him/her for any omissions. It should be possible for a very good response to achieve full marks and a very poor one to achieve zero marks. 
Marks should not be deducted for a less than perfect answer if it satisfies the criteria of the mark scheme. 
 
GCSE Geography marking schemes are presented in a common format as shown below: 
 
 
 
 
 
Question 1 Rationale Indicative response 


AO
1 


AO
2 


AO
3 
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(a) (i) Describe the relief in grid 
square 0381.  


Credit up to two valid statements each 
with one mark. 
 


Ridge runs east-west (1) 
Steep slopes in southern part of square (1) 
Gentle slopes in northern part of square (1) 


  2  2 


 
 
 
 
 
 
 
 


 
2 Tick marking 
 
Low tariff questions should be marked using a points-based system. Each credit worthy response should be ticked in red pen. The number of ticks must equal the 
mark awarded for the sub-question. The mark scheme should be applied precisely using the expected outcomes box as a guide to the responses that are 
acceptable. Do not use crosses to indicate answers that are incorrect. If the candidate has not attempted the question then the examiner should strike through the 
available dotted lines with a diagonal line. 
  


This box contains the sub-question 


The columns to the right indicate the 
assessment objective(s) targeted by 
the question and its mark tariff. 


This box contains indicative content for point-based marking. For closed sub-questions (in 
particular, on Foundation tier papers) this box will indicate the only response that is 
acceptable. For more open ended sub-questions this box will illustrate a number of likely 
responses that are credit worthy. It may be that this list will be extended at the examiner's 
conference after actual scripts have been read. 
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3 Banded (or level) mark schemes 
Banded mark schemes are divided so that each band has a relevant descriptor. The descriptor for the band provides a description of the performance level for that 
band. Each band contains marks. Examiners should first read and annotate a learner’s answer to pick out the evidence that is being assessed in that question. Do 
not use ticks on the candidate’s response. Once the annotation is complete, the mark scheme can be applied. This is done as a two stage process. 
 
Stage 1 – Deciding on the band 
When deciding on a band, the answer should be viewed holistically. Beginning at the lowest band, examiners should look at the learner’s answer and check whether 
it matches the descriptor for that band. Examiners should look at the descriptor for that band and see if it matches the qualities shown in the learner’s answer. If the 
descriptor at the lowest band is satisfied, examiners should move up to the next band and repeat this process for each band until the descriptor matches the answer. 
 
If an answer covers different aspects of different bands within the mark scheme, a ‘best fit’ approach should be adopted to decide on the band and then the learner’s 
response should be used to decide on the mark within the band. For instance if a response is mainly in band 2 but with a limited amount of band 3 content, the 
answer would be placed in band 2, but the mark awarded would be close to the top of band 2 as a result of the band 3 content. 
 
Examiners should not seek to mark candidates down as a result of small omissions in minor areas of an answer. 
 
Stage 2 – Deciding on the mark 
 
Once the band has been decided, examiners can then assign a mark. During standardising (marking conference), detailed advice from the Principal Examiner on the 
qualities of each mark band will be given. Examiners will then receive examples of answers in each mark band that have been awarded a mark by the Principal 
Examiner. Examiners should mark the examples and compare their marks with those of the Principal Examiner. 
 
When marking, examiners can use these examples to decide whether a learner’s response is of a superior, inferior or comparable standard to the example. 
Examiners are reminded of the need to revisit the answer as they apply the mark scheme in order to confirm that the band and the mark allocated is appropriate to 
the response provided. 
 
Indicative content is also provided for banded mark schemes. Indicative content is not exhaustive, and other valid responses must be credited. In order to reach the 
highest bands of the mark scheme a learner need not cover all of the points mentioned in the indicative content but must meet the requirements of the highest mark 
band. Where a response is not creditworthy, that is contains nothing of any significance to the mark scheme, or where no response has been provided, no marks 
should be awarded. 
 
Options Themes   
Learners are instructed to answer one question. If the candidate has responded to both questions then the examiner must mark both questions. Award the higher 
mark that has been attained. 
 
 
 
 
 







 
UNIT 2 – 4232/01 Foundation Tier 


Theme 10 Tourism 
Question 4 
 


Rationale Indicative content 
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(d) Describe how tourism has changed in recent years. Use one or more 
named locations to help your answer. 


See level descriptors below 4 2  4 10 


 
Question 4(d) Describe how tourism has changed in recent years. Use one or more named locations to help your answer. 


Level Level descriptor 
 Award 0 marks if the response is wholly irrelevant or incorrect. 


Level 1 
1-2 marks 


Simple / general description of change or a list of changes.  
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet 
points. 


Level 2 
3-4 marks 


Elaborated description of change. May refer to a named location. 
Information is communicated by brief statements.  There is a basic structure.  There is reasonable accuracy of 
spelling, punctuation and grammar. 


Level 3 
5-6 marks 


Detailed description of changes in either breadth or depth. Accurate reference to named location. 
Communication is clear and logical. Spelling, punctuation and grammar have considerable accuracy.  


 
Assessment of spelling, punctuation and the accurate use of grammar in question 4(d) 


Level Performance descriptions 
0 Candidates do not reach the threshold performance outlined in the performance description below. 


Threshold 
performance 


1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the 
demands of the question. Any errors do not hinder meaning in the response. Where required, they use a 
limited range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of 
meaning in the context of the demands of the question. Where required, they use a good range of specialist 
terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of 
meaning in the context of the demands of the question. Where required, they use a wide range of specialist 
terms adeptly and with precision. 


 


Indicative content:  Responses should describe changes (expect recent changes i.e. since development of package holidays rather than historical accounts)  
such as: 
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• Increasing number of short breaks (including city breaks) throughout the year 
• Increasing number of tourists taking long haul flights to worldwide destinations 
• Increasing trend for taking holidays in the UK / at home (staycation) 
• Eco-tourism and the growth in specialist and bespoke holidays such as bird watching, whale watching, adventure activities, trekking etc. 
• Use of internet to diversify choice. 


 












Sticky Note

The answer focuses on change in one particular location which is a different but valid approach to the question.



Sticky Note

A few changes and improvements are noted.



Sticky Note

This part of the answer drifts (as many responses did) into the effects of tourism on Benidorm.
This is therefore a clear Level 2 answer only.



Sticky Note

Awarded Level 2 (3 marks) plus 4 for SPaG.












Sticky Note

An answer which demonstrates breadth of knowledge and understanding of why tourism has changed.
A good example of a C grade response.



Sticky Note

Several changes are given with accurate reference to some named locations.



Sticky Note

Awarded Level 3 (6 marks) plus 3 for SPaG.
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	 (d)	 Describe how tourism has changed in recent years. Use one or more named locations to 
help your answer.	 [6 + 4]


Marks for spelling, punctuation and the accurate use of grammar are allocated to this 
question.


End of Theme 10 question
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